DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

Name:
DIVISION
Time: Score: y—
21 —22.864 <+ 0.008 = 256) 167.8 +4 =
22) 240.84 = 0.03 = 71 0.00718 + 0.001 =

243) ().02013 = 0.01 =

29 —6.7728 - 0.8 =

215 —(.79696 <+ 0.08 =

2160 —(.09331 = 0.007 =

247) 85.67 = 0.1 =

2226+ 0.8 =

249) —21H.88 +- 3 =

2500 29.847 = 0.3 =

20 —0.00825 + 0.01 =

22) (0.08262 + 0.01 =

258 18.558 <+ 0.003 =

251)  —36.664 — 0.04 =

255) —3512.8 + 0.8 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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260)

261)
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263)

264)

265)

266)

267)

268)

269)

270)

—2925.2+04 =

—3947.5 + 5 =

—0.42105 =+ 0.005 =

0.09231 = 0.01 =

—0.42348 <+ 0.06 =

7.21 =10 =

—11.644 = 0.002 =

5088+ 1=

—87.3 + 10 =

2.167 + 0.001 =

—4270.7 =7 =

426 -1 =

—703.08 + 0.09 =
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